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Investment and full employment.
Saving und Say's Law of market.

flected by :

Shorter time interval of income receipls.

(a)
(b) ~ Economic prosperity.
(¢} Liquidity preference is less,
(d7 High degree of inequality.
10. Which of the following statement isfare true ? _
(a) During a recession the economy is inside its |:-r::m:lun:l.il::«n-!.:lrﬂ'ﬂﬁi"f’“i"rfl'r frontier.
(b} During a reccssion the GDP gap is positive.
(¢) During a recession the unemployment rate 18 increasing.
(d) All of the above.

11. A positive GDP gap exists when :

(o}
()

(e)
()

12. Unanticipate

(a)
(b)
(e)
(d)

Nominal GDP is greater than real GDP.

Real GDP is greater than potential GDP.

Potential GDP is greater than real GDP.
Economic activity is at 15 full-employment level,
J inflation is harmful to :

Retirees whose retirement income is indexed.

Debtors.
Creditors.
Eeonomic growth but has no effeel upon individual members of the economy.

(12 x V2 = 6 ma
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7. Write a note on Keppe s

19, whﬂt do You mesn bj"
20. What is inflation ?
21.

lance spproach.
law of Consumption

ienty of Inveetment 7

full employment 7

Differentiate between APS ang MPS
22. What is meant by Real Balance Effect.?
23. What are the important factors determining consumption ?

24. Distinguish between Classical and Keynesian aggregate supply curve.
(10.x 2= 30 marks)

Part C (Short Essay Type Questions)

Write any six questions.
Each question carries 5 marks.

95. Distinguish between macrosconomics and microceonomics.
26. Explain the following concepts :

(n) GDP.

(b) GNP. -

(c) NNP.

(d) Disposable Personal Income.

27. E:plniu:humuinrpiﬂm“f"""“] hesis over absolute income hypothesis.

seterminants of ivestments ? (55 =80 marks)
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